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Average

vaacej, A nuniben that ex’pmxx +he C(entye Ualue of 3
L Set of dala-

_ Sum of Nuribens
H"Q”aﬁg © Totd Nurmibeny

* ﬂmage % algo Called 33 Mean Sometimes
Egi Find the auvenage of 33,u9 ¢ §+.

= 33+49+5t = 133 = ue33 @:

——

3

3
Modenen Method to Caeulste the gvensge :

@ Calculste the avenage of the  Faliuaing Narribers :

037, 258 ,18%) 3225 158

:50&“ Conceptual Method Bam Metfod

= Q3%+ 253+ 187 + 322+ 158 [ 231%,258,18%,322, 158
5 Lek ﬂua '3 200
= 4462 n31, 259, 18%, 322, 158

324 351 58 13 122 U2
=° | opp + 8% = 2324
0
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Heﬂjﬁmg Hand

@- let a nurmben heaﬁ%U hese numbeng 23%, 258,18, 187
322, 158.
Lt = 200"
@" 1he the , Diffenence of numibeng feom 200 With Sigh-
+32, +58,-13, +122,~U2

Result = 162
© — Qivide +he nesult ’%3 total Count of hyribes 6)

= 482 - 32

N
@ - Add this Nurben to assumed number -

= 200+ 324

=232 finy >< o
K== e X7

— X x X
Auenaae of Congecutive natural nurﬁ%eng ngecutve even hurmiben
[ Consecutive odd hum‘BQm 'ﬁaut‘na SQome diRfenence -

= Pinst Nuriben + Last Nurben

2

Byt~ find the avengge of the natuna! huribeng bl 3 € 1ug.

Safh- Natuwral humibeng Blur-3d 149 -
Y P 1uB,
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| ﬁ‘nd the aue;nage of even Num‘Beng foom 14 to 14+

80&'\% ’]_Q) ']_q,—---~—--—11q,116
12+ 116 = 6U flng
2

Bna the odd numbos blw 2 é 3y -

Sy Q1L - - - 31,33
2

7,44, -~ __1_ 31, 35,99

. ---91,95,939

Soln, 3\31,\4/1-"- 1
T Qv

°  {he QDiffenence Blur e numben % always Same . ((-e —4)

3493 — 102 = 51 (ing
2 2

qane of Hast n natwnal Nurens ¢

F\\ﬂmaqe of Sqs
Qf\,ﬂ),@.tﬁ

16 -
nd aueﬂaae 0(3 Squane of 1 to

QS:Z@

33 1 =4906 (n
= 13K - A%l
Son- = @er 'L)“?’*l,) = 2 2

x vonage af C\IBG oF Rnst n_ngtunt ihum%&_
z= 1) Ln+1 |
€. Find the avenaae of Cibe of 1 1012

2
o (12 = 3163 = 503
Solr- A2
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salved eoacamples
prablesmna baved oam ruvmbers
Q1 rind the average of the rwimberas fromm 3 2o 147.

SO.(:
Bost numben + ldast hum‘%gn
2

...... U5, 1uey1ut
MV

= 3tAUF = 15 B_ﬂl
2
Q. 2 Bind the average of firsl 1s mudliples of 4.

= Rost numben + dast nuriben = 32 An%

2

Q. 3 ymwuuag.eqihz'%ﬂumbMMmz&wumgz,o{m
Lo m? then find the average of (m + /m)
ruvmbers”.

sad:
avq - of M mentheng = Sum oF m menibeny
T m
nz = Wmof n hum’BeﬂB
m

Sum = mn*

vg: of n memben = Sum of N nUM bR
n

Sum = nm>

) 2. 2
'avg-OP (m+n) num%em - mh-+hm
min

= mn (M+h)
(m+h)

:mh‘&n_

4
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Q 4 TAee mnatural muwmbers are oauch that the .second
muvmber La Ludce the firat u third Lo trice the aecomd &
arerage of all three mumbera io 147. mind the largeat
muvmber

sal: @ ) HY2n+6m - qu3
» Mt T 3
u \‘.—’;-"
_EH- = 1ut

Lanaes’w UMb = ug X6
= 284 fing

Q.5 The anerage of 9 mumbers Lo 27. The average of firet 4 of
themn Lo 23 & the awerage of laot four Lo 31. rind the
smiddle murrben.

SOZ: g
3 6389 *Qum of Forst u =
123y i Q St 4 humbens23xy =99
23xy H  3xy * Sum of Jdast Foun Numbeng=a1xy=12y
23x4+ H +31XU= 23 %9 e Middlr Nurithen = v

J2+4H+124 =2u3

* Qum of all num‘Bem = 3x23 =243
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cambined average
Q.1 TAe .average cul, of 23 mem La 90 & he anverage cut. of 27
wommem Lo 77. thmﬂxewvzﬂag,em.o/mmlwfmd

dasa.
(Combined quengge = Mrw, +thg w2 - - - - - - -
g NNz 4n3. - - --
= 23%930+ 2% Xx3}%
23421
= 2010+t2013 = M43 = B2-94 fng
S0 50 -

Q2 Average bLcore class P, @ R L4 83, 76x 85 suwmber of
Lludemd im class P, @ & R Lo 27, 36 & 45, then find the
cambimed average of the clase P, @ & R.

sal:
P @ R Hedbing hand ;
U
aug. 93 36 8S (M) Let a numriben e aug- Rear ’63 Hho
Rah‘o:ﬁ_:f »%g Ng’ nunibens 83, 76, 85
Lot ('e=8o
d3Sumed aug = 8o (i) Take pfe -
Now +3 -u 43 83-90 = +3
X3 XY x5 F6-80 =~y
vS-30 =g
9-16 %25 =18 () Moteculs With +he viatio
= 18[g0 = 1:5 (+ 3x3)* (~4xu) + (5x5)
) | = 9-16425 =
= 8o+ 15 vy 18
= 1.5 fing 3+4+s (Rato of Students
V) Add in the the Assumed mean
= 80+45 fny
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Q.3 The .average acore of claca P, @ R Lo 97, 104 & 934

respeclively. average score of P & Qia 93 & the average
Lcore of @ & R Lo 98, rind the combimed average of all

casses.
e gp io% 9% aug- Scoses of Py Q¢ t-
flug —-—> ayg: Scove of Q& R.
Sg'ém X Y | By Ratio 0F humiben of Student in A Q&R
PQ.

Lot assuméd au3 1006 |
ah 104 Sq [Use of mmaahbn Me*ﬁoﬂ

4100
=3 +y -6
X1 xy Xb =53 o T3
> 2 1
~3%% 6—36 Wruté 2
Cosvected flug = 100-25 = g+ finy .
eoaccluding or

Q.1 Thzwuuagz,ag,eo/ 30 .atudents Lo 9 years. Y the age of
the Leacher io aloo imcluded them awerage become io.

rind the age of Lteachenr.
sal: Basic Method
Sum of 8ge of Students +3ge of teachle _ wew Aug -
- total Count

FoRI+MIL _ g 4 270+H =30

= R S

Advance F\%?mcjﬁ Helbing Hard
Merben Aug « fge of teachen
3o~y 9 = flug of Studeqt X no-of mom-
1 ber Tncluded
1J/l s + totat memben x Aug- Thovosted
Age of toachen=9x1+31 %1 .
= 0 86‘}(
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Q.2 Average of 40 olaf{ /members Lo 18 years. Y 20 mew
smeamber wuere joimed, Amﬂtag,emwzzaudbg 6 momtha.

‘/05\[,

$+’lo
b0 —" 185

TP fiug: of New mermbens
Sum of new merﬂBQn% = 19x20+ 60X S Asked = 390 =195

= 360 + 30
2
= 390 fing 0
Basic Abbwoch
Uox1f+ Sur OFSmueJm 16%°5
+20+ H = 10 = H= 390

Q.3 Y the anverage age of 24 oludents & 1| Leacher Lo 15 yrard.
the teacher’s age Lo eocluded theirn awerage Lo
decreased by | year. simd the age of Leachenr.
Menber ﬂn@
25 /
| Sy
')_q/

= 1x15+24x1 = 39 Yo

sal:

Q. 4 the average of 25 imembers Lo 18.75. Y ome muwimber ia
eoccluded anverage becorme 16. Fimd the eoccluded muvmben.
sal:

Exam method Basic Metfod
Memﬁen Ryg: 25%1%: 715 ~ 24 x16
18- 15
) '/1’( = U683 - 33y
24 —7 16

= W15
2ux2-35+ 4815 X1-0u-#§ fne
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Q.5 Average wul. of 40

by 0.75 kg whemn
a peroom of 50 kg Lo replaced by mew persom. simd Lhe
wl. of mew persom.
sal: | 1fen Average Tnereased
New Penson Wt - = ald Pansoh uk+ Aug- x Increasfhg
50+ Uo x '35
0 Ky.
. QEELQauhﬂ e Cansons , TP 3 Ponson 1S sehlaced New Ponson =
New fonson = ald Penson 4+ o0d Aug: XQ@-Thcreased'
bt .

T

i

o lnthen aug- decyeased ’b3 a “%Qnson mehaced (use about
Formula  With (- &igs)

« WHen avg Jiemaing Qame “%3 me?:dlacina the ‘faensoh then
but oF old Pauson ¢ hew Ponson 13 Sany

miaread problema
Q.1 ThAe .aw. 25 ohoervalions L& 13. U was Later

/n.ew,wuzmag_em -

sal:  Rasic Method -

found
that om oboervaliom 73 wad wromgly emtered oo 48. The

fotal Theosrect Sum= 25 *13

—

= 325
Cosrect Qum = 325-48 + 33
= 350
Cornect aug = 200 = 14
29
Exam R%E&p . Oiffereny
New ﬂ"'ﬁ = Fone m& orad numens
= q135+F "_:'f_ii‘L
25

~ azel = Wby
9
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Q.2 The anerage imarks of 14 aludemts was calculated as 71.
the mark. of 2 students as 42. inaftead 56 & 74 imotead

of 32. what Lo cosrrect average of the aludenta.
sal:
I 4+ et 32-u2-T14
1Y

= M- 28 = 69flm
\

Mmlacellaneauws problema:

Q.1 The average age of a family of 4 memmbers 3 gears ago
Lo 21 years. A baby io borm  mow the awverage age of
family Lo came as before. Find the age of the baby.

sal:

F\ugnaae fge B yeans ago = 21

=2y

Qum age 3 geans 330 za
Sum ofF Present age = Bu+3ry

—

= 36
Qum of Pone Serit age OfF S m@m%em, =NeWw QU X §
= 21%x 5§
=105

ﬂae of ﬂa‘ﬁj = 105-36
9 deamx_ﬁg‘

1

10
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2 Reaction,
1= Loo7, Y = 0% %% = 3157
Yo =507 g = 8-37. 5/8 = 62.-57.
73 = 33.33% gy = 7.697 g = @1.57
%= 25% Vi =F117- Sk = 83.337.
Vs = 20v. Vis = 6.¢¢ Wia = 91.6% 7.
Yo = 16667 L, = goasv
Vo = w287, L, = 5-887.
g =12-57- g = s-56)-
Yq =111 7. l/1q = 5-267-
Yo = l07. Yoo =57.

/ Multiplicatien

Fraction|—— Additien

\ Sy wbrackion

o oft @St a9t & atte; ofe SR o T

11
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MaHm’ﬁlEcai‘[of)z j/@ :

(@ g = 14087

G
)

g = T7-14 7.

(@ % =16-6¢ 7.

br = .
Gy = §-82,

Add it‘iog fom_’lz :;

@) (07.697.
> 00/ +T7-69 .
- I
= L+ Vg =13
) 131-57.

ﬁ [O-D 7,"'*"\3‘7"57"

:ff‘g/s :H/.8

b) g = 25

(4
D

'/8 = [9.-8¥%,

6‘%

S L = v
/16—6-25/0

&0 ‘i =909

o

_597,“ = 18187,

(b) ll&.6€ 7.
2 {oo/. + 1£-6( 7.

=1 +1 — |L
e fg

(o) [¢o.5 .

— loo7/. +£2-5 7.

= | + By
S 18
>’ &

8

—
_—

12
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(@) q6.9¢., (b) 8%-57.
o /. —9.09Y. =007 —12-57.
g s
- 1 T > 1 =
= 1o ="
(C) 99.8¢ V.

= oo Y. - T4 .
l._

-

» I

— l

[

|

And

L

£ - [L28-5¢7% of 35+ 87.57. @ 30 =

ZCQ'*'/?-)XSS + (loo?. —12:57) X 32 =,

— -
—:%x?)b‘ + (1 8»)*32

_n 7
=L y¥ya5s + — x 32
F 8

= lo+ 28 = 3B 44

3F-5v. of €4 + 16-6€7 of o4 =J729 + »
ZaClz-57) xeu + (W) X224 = 2% +

4—
g &

13
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=244+ 4 =91 +°L

@ Ll8/ @g 2439 1L OO 7. = 24ay
/\ S0Y. = [olF
PO R, 7. =04. 24
= IQ_J?—QB,GQ Vi, = ug-68
= “6‘8.511321‘;
‘f/S\‘/- of 2460
SO -5 7.

1230 - 123
=10YF 4y

S| S5 of Sas

/\

S0%. +5 .
262-5 +2¢ .25

= 28975 Ang

[ 26 7. @EL l2ug
7\

SV +H| y.
12 +12-ug

= 324--yg As

14

LOD 4 —> 9y g0

SO07 — a3,
Ré 23

o0 7 —s 5ag
S0¥. ~3 9g0 5

Sy, = 9¢. 0

oL Ve — loug
257 — la X lnw=3n

['.'/- — IQ,-<}-8./_
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